
JAYPRO 

 

1. Assemble the wheel bracket to the lower frame according to the drawing. 

2. Assemble the Upper frame with the lower frame as shown. 

Upper frame

Grip 

Scoop 

Pneumatic wheels:  2pcs 

Wheel bracket

M10X70 bolt:  2pcs 
M10 lock nut:  2pcs 
M10 flat washer:  2pcs 

M8X70 bolt:  2 pc 
M8 lock nut:  2 pc 
M8 flat washer: 2 pc

Lower frame

Jaypro Sports 
(800) 243-3533 


